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ﬂ Scriobh an freagra ceart. H

D’ioc né Nior ioc

~ Simona as na milsedin.

Simona as na seilidi.

~ Sedn as na hordaisti.

A __ Sedan as na cosa loscain.
Sofia as na blathanna. g !
Sofia as an leabhar.

ﬂ Ca bhfaigheann td na rudai seo? )

linn snédmha noé cuisneoir né carbhdn

ab

# "ll

Ar Saoire sa Fhrainc Y
Bhi mé ar aesrio sa Fhrainc. Chuaigh mé ag siopaddireacht san
ghadlarmohl _ . Fuadirmélatria __ . Ar dtds,
chuir mé cibasroi sa altria . Ansin, chuir
mé lidhsma , ietsli , agus flesiid 501
iatral . Nior cheannaigh mé soca scliond
mar nior thaitin siad liom. Chuaigh mé go dti an cuntar agus
coid’ ___ mé as na hearrai go léir. Ansin, chuaigh mé ar ais
go dti an hbcaran . Chuir mé an tseiil A
an amihdasl agus na [iliesd sa hisueonirc

. Nior chuir mé na crsiobal sa enuischori

— Chuir mé na ircsbioa i mbosca stain. >
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ﬂ Criochnaigh na habairti.
() Té na paisti ag snémh sa , m

‘@ by Téna : _ar an talamh.
a_____ &4 bhﬂrgﬂire_ @'

&@ Cheannaigh Mamai bainne san

Ta an Lan de bhainne! %Ell
') Chonaic mé ar an bplata.
Is muith le Rossa a ithe. w

%ﬁ& Chuaigh an chlann go léir go dti an Fhrainc ar —_—
~ Daidi as na torthai ag an gcuntar. s 3
Bhi mor ag an gclann sa Fhrainc.
Chuir Orla cdis agus sa cheapaire. @
Eﬁf_ 1 Thoég na paisti timpeall leo san ollmhargadh.

ﬁ Cuir an litir cheart i ngach bosca.,
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May 1945 when the German Army finally
surrendered. American, British and French
forces controlled the west of Germany while
the Soviet Union occupied the east. Berlin, the
ruined German capital city, lay in the east of
the country. The four allied countries agreed
to share Berlin and it was divided into four

. sectors, one for each victorious nation.

- However, relations between the Soviet

Union and its three western allies soon turned

sour. Germany was split into two countries,

¢ East Germany and West Germany. East

West Germany was with the western allies.
The western part of Berlin remained a part of
West Germany even though it was surrounded
by East Germany.

On the 13™ of August 1961, East German
soldiers, under orders from the Soviet Union,
set up barbed wire barriers around West
Berlin. No one was allowed to cross the
barriers; anyone who tried was shot. People
returning from nightshift work in another
sector of the city were cut off from their
families. In one stroke, West Berlin was cut off
from the rest of the city and families were torn
apart. The fence soon became a solid concrete
wall over three and a half metres high, with
watchtowers and an electric perimeter fence.

2 weee 30 + 0 2
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Germany was allied with the Soviet Union and =
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- Armed guards with dogs patrolled it
constantly. The only access to the city was by
air or by using a special high security railway
through Eastern territory.

Over the years, thousands would try to
escape from the harsh regime in the East to
rejoin family and friends. There were many
heroic, ingenious attempts. succeeded,
but at least 136 people were by guards
while making the attempt. The real number
will never be known. From 1961 until 1989,
Berlin remained divided.

By 1989, people on both sides realised
that things had to change. On the 9" of
MNovember, the East German Government

- ppened the border. Thousands poured across

the checkpoints and started to tear down parts

- of the Berlin Wall as the guards looked on. By

s October 1990, Germany was reunited and the

Berlin Wall was dismantled. Parts of it remain

as a monument to those who suffered. B

CHECK-UF

1 When did the German Army surrender to end
World War Two?

2 Who took over Germany after the war?

3 What happened in 19617

4 What was the barrier first made from?

5 When did the Berlin Wall come down? Why?
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Highest Deepds
- The Piccard|

Imaginc if three members of the same family
set world records in different ways. That is
exactly what the Swiss-born Piccard family
achieved.

Auguste Piccard, a Swiss doctor, had a
passion for ballooning. In 1931, he and Paul
Kipfer made the first manned flight into the
Earth’s stratosphere, setting a new world
record of 15,781 metres. They were nearly
in space and had to use a special pressurised
cabin designed by Auguste in the attempt. The
following summer he reached an alttude of
16,201 metres.

Auguste’s interest then turned towards the
ocean floor. It took him ten years to design
a special submarine that could tolerate the
pressure of deep water. He called it the
bathyscaphe and it reached a depth of 1,388

metres. His son Jacques joined him in his Bertrand’s first two attempts ended in failure;
work. In 1953, their second design, Trieste, however, he had learned valuable lessons, On
reached a depth of 3,150 metres. The US the 1* of March 1999, Bertrand and his co-
Navy was so impressed with this achievement pilot Brian Jones took off in Bredtling Orbiter 3
that they bought the Triesie in 1958. Two years from the Swiss Alps and rose to 11,000 metres.
later, Jacques and Don Walsh, a US naval At this altitude, the strong jet siream winds
officer, dived 10,980 metres to the bottom of carried them around the world. They landed in

the Mariana Trench, one of the deepest known the Egyptian Desert after a 45,755-kilometre
places on Earth. Between them, father and son flight on the 21* of March. B

had managed to reach the highest and lowest
points on Earth.

Jacques' son Bertrand inherited his
grandfather’s love of ballooning, He set out to
be the first to fly a balloon non-stop around
the world. A special capsule would be needed
if he were to survive the high altitude flight.

| Name the three Piccards who achieved world
records.

2 Who went (a) the highest, (b) the deepest and
(c) the furthest?

3 Who worked together in designing the

Oxygen, water and food supplies would add bathyscaphe?

to the weight. The balloon itself would need 4 Who was so impressed by this invention that
vast amounts of helium gas to make it float. they bought it?

It would also need to be strong enough to 5 Who helped Bertrand achieve his goal?

withstand difficult weather conditions.

; -
| WEEK 30 + DAY 3 11
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VERMEER

an Vermeer was born in Delft in the Netherlands in 1632.
His father was an art dealer. When he died, Jan took over
the family business, However, his first love was painting,

Vermeer was a Protestant but he married a Catholic
girl named Catharina Bolenes. They had 14 children, 10
of which survived. Vermeer was a very careful and very
slow painter. In fact, he only painted about 40 works
altogether. He had a wonderful ability to paint light. This is
particularly evident in his masterpiece, The Lacemaker.

In View of Delft, Vermeer painted the town of his birth. His
most famous painting is undoubtedly Girl eoith a Pearl Earring.
This portrait is often referred to as the Dutch Mona Lisa or
the Mona Lisa of the North. However, little is known of the
background to this beautiful work. Nobody knows who the girl
1s nor how such a masterpiece could lie forgotten for almost
200 years until it was rediscovered in the 19™ century.

Indeed, Vermeer himself was forgotren for abour 200 years.
Since the rediscovery of his wonderful paintings, his reputation
has grown and grown. He is now considered to be one of the
finest Dutch masters. ll 2

2

3

CHECK-UP

% @Mff% %@fer

In wl'n:n and country
Was r born?

How many of his children
survived?

About how many paintings
did he complete?

Mame a work that shows
Vermeer's particular ability
to paint light.

Which of his paintings is
sometimes called the Dutch
Mona Lisa?




My Write at Home Book 6
43 of 124

Confusing Words

The words it's and its are often used incorrectly.
It's means it is or it has. Examples: It's time to go home. It’s been a good day.
Its is the possessive farm of it. Examples: Its trunk is long. Where is its nest?

Rule: If you can replace the word with 'it is’ or ‘it has’, then always use an apostrophe.

A. In your copybook, add apostrophes where needed to the following sentences.

1. lts been a long day and its time for bed!
2. The rabbit lifted its head and sniffed the air.

3. The computer has a crack on its screen.
&, Its bnring and its monotonous work but its got to be done.

5. | got confused in the dark building and couldn’t find its exit.

B. In your copybook, rewrite the following sentences, replacing the underlined words with
it’s or its. (Note: Not all underlined words need to be changed.)

1. The commentator said it is half-time and the score is nil all.

2. | understand it is a useful machine, but what is jts price?
3. As it hgs been a very windy day, the tree has lost almost all of jts leaves.
4. Have you seen Frozen? lts a good movie of its genre.

5. Although jts engine is very powerful, its not economical to run.

Two other words that are often used incorrectly are you're and your.
You're means you are. Example: You're my best friend.

Your means belonging to you. Example: Is that yeur house?

C. Complete the following sentences using either you're or your.
1. You can start test as soon as ready.
2. Teacher said right to lock bike.
3. 'l think looking better now. |s headache gone?’
asked Mam.
4. | hate the fact that so much faster at texting than | am!
5. Have you lost mind?
-
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Idiems are phrases that are understood by people who speak a language naturally. People who
don't speak that language find idioms hard to understand because the words on their own don't
make a lot of sense!

Example: She had butterflies in her tummy. = She was nervous.

Use the following idioms (or phrases) to write imaginative sentences.

1. give it a shot:

2. have mixed feelings about:
3. total rip-off:

4. hit the books:

5. out of the blue:

6. second to none:

7. cost an arm and a leg:

8. slipped my mind:

9. the icing on the cake:

10. callita dag:

54 Week 14 = Doy 2 -
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Onomatopoeia

When a word reads just like it sounds, this is called enomatopoeia.

Examples: fizz, clang.

A. Underline the onomatopoeic word in each of the following sentences.

| think | heard your mobile phone beep. 4

Sausaqges --.'.fl:"lq an par
- ]

Listen to all the bees buzzing!

| love the sound of sausages sizzling on the frying pan.
The old door opened with a loud creak.

The flag is flapping in the wind

The ringmaster cracks his whip.

The leaky tap went drip, drip.

The unmannerly child slurped his drink noisily

2 0 NN

A good fright will cure your hiccups.

—
=

‘Stop clicking your pen please,’ asked the teacher.

{ B. In your copybook, write suitable sentences to show the sounds that the
following words represent. The first one is done for you.

. thud: He dropped the pile of books on the floor with a loud thud.
. splat
. click

. kaboom

1
2
3
4
5. burp
6. squealed
7. zip
8. muttered
q

. ripped

10. jingle

74 Week 19 - Day 2 B
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Caibidil 33: Toilleadh - toilleadh a mheas

i .
Toilleadh — sin an méid leachta a lionfaidh coimeadan.

rThmT ar 5ml leachta, linnfuidh-'. [ Thart ar 60l ola, lionfaidh sin umar
sin taesplnd breosla gnathchairr. Tomaisimid
 sin toespindg. = 9 ey l

» toilleadh i

(- : ; millilitir (m0)
Té thart ar 111 [ # Thart ar 1,0001 ola, i
: i QN agus i litear (1)
ngndthchartdn bainne, u lionfaidh sin umar ola ti.

L

L™

1. Cuir ciorcal thart ar an meastichdn is fearr do thoilleadh na gcoimeddan seo. Pléigh.

(a) m : (b)

50ml 11 47l 700ml 250ml 900ml 51 501 151

o

300ml 3000ml 30ml : 800l 20,0000 20000 : 30ml 2| 280ml

2. Scriobh an meastichdn is fearr atd agat do thoilleadh na gcoimeddan seo. Pléigh.

(a) conna spréite - (b) ubhchupdn : (c) braonaire sile

b
i

(d) citeal cistine (&) taincéir ola : (f) buidéal ola oldige

. g i =

=
Sa Fhraine fuair siad ubh dineasdir a bhi 20em ar fad agus

Firic Mhata bhi toilleadh 3 litear inti.
Dishldn Usdid an fhiric seo agus oibrigh amach cén toilleadh a bheadh i

100 ubh dineasdir den chinedl céanna?

| sATHE Tomhols  sHAM-HAOMAD/GNE Tollleadh

TEAMNGA Toilecdh, leacht coimeddain, meas, lomhais, litear [, médliflear imi méideonng, deachiddocha, coddin, fod
leithead, oirde, doimbneacht, ot foirmie, olbrigh amoch, rigmb
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Toilleadh

3 X o~ . = »
Cuimhnigh:  [1000mi=11] [22&1-23760 | [350mi=2S1-0351 |

[l b
1=1000m) [70mi=751=007] (3mi=3251=0003 |
N—
)

Thios athscriobh millilitir mar litir (i) i bhfoirm chodéin agus (ii) i bhfoirm dheachilach (né dheachiil).

1. (a) 450ml | (b) 2,452ml : (c) 600ml . (d) 1,782ml  : (e) 95ml : (f) 395ml
(@ 7ml | (M700ml () 2320ml () 8Oml (K 1,010ml | () 67ml
2. Cé mhéad millitear atd i ngach ceann de na cinn thios?
(a) 231 (b)0-763L (o) 14931 (d) 0921 (e) 311 () 4065
(g) 535! é{hm-nﬂm é{i) 0-3071 écj) 2:0071 étkm-nm (0 531
(m) £1 (6105 (o) 22 (13 (@01 o 33

3. In ionad gairneoireachta d'isdid gairnecir coimedddn 5 litear chun bia leachtach a chur ar a
plandai. D'asdid si millilitir mar thomhas. Cé mhéad millilitear n chuir si ar gach planda thios?

(a) 3l= ml | (b) gl= ml | () gl= ml {(d) j5l= ml: (e) gl = ml

D= mli@F=_ ml W= ml §|= ml i) F=__ ml

4. Caithfidh an feighli scoile buidéal 3.51 tuarthéra a roinnt go cothrom idir 7 mbuid

n (a) Cén codan de litear a théann isteach i gach buidéal spraedla?
(b) Cé mhéad ml é sea?
{c) Dé mbeadh 10 mbuudeul sprueulu aige, cé mhéad ml tuarthéra a chuirfeadh sé
i ngach ceann? _ |
(d) Cé mhéad ml a bheadh fagtha da geuirfeadh sé 450ml i ngach ceann de na i
7 mbuidéal spraedla?

5. Té Glan: leacht niochdin ar diol i mbuidéal, agus td 400ml i ngﬂch buidéal.
(a) Bionn Glan: leacht niochdin ar fdil | gcartdin agus bionn 12 bhuidéal i ngach cartdn.
| litir cad é an méid iomldn leachta atd i(n):
(i) aon chartdn I? (i) sé chartdn 7 (iii) 15 chartdn I?
(b) Cad is fid na cartdin i ngach ceann de na freagrai i gceist (a) md td buidéal 400ml
Glan: leacht niochdin ar diol ar €2.79?

(i€ (ii) € (i) €_
(¢) Usaideann bialann 6.6l Glan: leacht niochdin i mi amhdin.
(i) Cé mhéad de na buidéil seo a d'dsdid an bhialann?
(ii) Cé mhéad a chosain sé ar an mbialann chun na buidéil sec a cheannach? €

Firic Mhatd  Ta modh iontach cosanta ag an iasc seo (an chailleach).
Nuair a dhéanann creachadéir ionsai air ligeann sé 8 litear _
srama as a chorp agus tachtann sin geolbhaigh an chreachaddra. :

Ddshldn  Cé mhéad creachadsir a d'ionsaigh an t-iasc, md lig sé 2976 litear srama as a chorp?

73)
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Toilleadh

1. Athscriobh na méideanna seo mar mhillilitir,

(a) 31 628ml  (b) 51300ml : (c) 7154ml | (d) 61 150ml : (e) 2140ml () 1(9ml

@ 651 MmeSl i) 23l () 372l G0ADSL () Sl

Suimiu Deali lolri Roinnt

o || e ] e | R
+2-694 | -2-698| % 14 2'”
6-242 | 4-377 1 18 956 _}'gl
47 390 69

663461 jg

0

i3 . - - - -

2. Criochnaigh na hoibriochtai (suimeanna) seo, ach ar dtis athscriobh iad mar litir agus asdid an
pointe deachdlach.

(a) 5%[ — 21 638ml (b) 41 44ml + 3,576ml (c) 3187mlx7

(d) If-"I%l — 6,886ml ¢ (e) 61 60ml + 51 550ml : (A 51 326ml = 44

{9][}?,{3[ 35{}"1! ......................... ; [h}? 1_2 . | _5 : %30 —— ( .] 5123,§,m|_ 1..:, .........................

¢ 3igml+ 51051 (k) 421 336ml + 27

(D 46l =16

n 3. Athscriobh huimhreacha thios mar litir agus (i) 5uimigh an ceann is L agus an czunn' agus

(ii) dealaigh an ceann sa ldr én gceann is mé.
3 &5

(a) 7,257ml, 731, 775!

(i (i)

(i) (i)

© (b) 931, 9,720ml, 9l 689ml
0 (ii)

E 1 53
A0 (ii)

4. Bhi breosla cionddilte sa gheimhreadh. Bhi 9996 litear ola i dtrucdil ola. Chuaigh an tiomdnai thart

agus thug sé an méid céanna do gach ceann de na 28 teach a ndearna sé cuairt orthu.

{a) Cé mhéad litear a fuair gach teach? |

(b) Cé mhéad a bhi le hioc ag gach teach, md chosain an breosla 92¢ an litear? €

5. N4

| mbuidéal 2%[ ¥z litear sa ordiste, td 35% d'fhiorshi torthai.

i Cé mhéad millilivear d'fhiorshi torthai é seo? mil

C—

6. Lionfaidh 0.4561 uisce muga Aine. Lionfaidh 19ml uisce spunégq boird atd aici.
Cé mhéad spindg boird uisce a bheadh riachtanach chun an muga a lionadh?

Dishldn 1 Thaistil carr 6 10:30 go 13:50 ar luach 90km/u ar an medn.
(a) Cén fad a thaistil an carr? km
(b) Cén costas a bhi ar an diosal don turas mad chosain an diosal €1.40
an litear agus ma thaistil an carr 50km ar gach litear diosail? €
- Ta 1.652( as umar ola ti. D'Gsdid muintir on ti 28l
Dushl'.dn B ola sa ld ar an medn. Cé mhéad ld a mhair an ola?
74)
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